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Ideals for irreducible component#ﬂ)f Xpar

I = (W —u® 4+ - 1)

* 1 irreducible components of dim¢ = 0, with total 36 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(u—u?®+...+u?—1)

(i) Arc colorings
0
a2 = u
ag =
ag =
as =

aq =

u9—|—2u7—|—u5—2u3—u>

20 _ 5yl8 — 11010 — 10w + 2012 + 1300 + 908 — 208 —5ut — w2 4+ 1
—u?2 — 6120 — 17u!8 — 26u® — 200 + 1360 + 10u® + 3ub + 2ut + 42
—u34—9u32+~-~—u2+1
7u35+u34+”.+u271

u? + 6u?t + - 4 6u® + 2u?
a2 =

(ii) Obstruction class = —1

(iii) Cusp Shapes =

435 — 43 4+ 40u33 — 36132 +188u3 — 1561304524127 — 408428 +908u>" — 688126 + 880125 —
720024 + 124023 — 340022 —868u +236u?° — 11201 +600u'® —444u' 7 +592u16 +280u1° +
332u!*4+360u!? 420024840 — 17200 —60u” —156u® — 244" —52u8 +16u° +4u*+20u3—10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! w210 - —2u 1
Co,C8 W - w2 —1
€3,C4,C7 W w3 Gu—5
C9
Cs5, C6, C10 WP b —du—1
C11, C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y?0 —11y*° + - — 30y + 1
C2,C8 y36+21y35+--~—2y+1
s T y*® —43y™ + .- — 166y + 25
cy
C5,Ce, C10 y36+45y35+~“—2y+1
C11,C12




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v/=1C)

Cusp shape

u=0.282875 4 1.0627001

—1.68586 + 0.530851

—10.75192 4 0.827541

0.282875 — 1.0627001

—1.68586 — 0.530851

—10.75192 — 0.827541

u = 0.891515 4+ 0.0488851

2.90046 — 5.749691

—5.68594 + 2.688141

u= 0.891515 — 0.0488851

2.90046 + 5.749691

—5.68594 — 2.688141

u= 0.890163

—8.32989

—11.7240

u = —0.888293 + 0.0249017

—5.76957 + 3.658011

—7.50646 — 3.888251

u = —0.888293 — 0.0249017

—5.76957 — 3.658011

—7.50646 + 3.888251

u=0.498093 + 0.7343041

12.00850 4+ 2.058611

—1.12178 — 3.752311

u = 0.498093 — 0.7343041

12.00850 — 2.058611

—1.12178 + 3.752311

u = —0.375034 4 1.0645001

—3.45066 — 3.258781

—14.9165 + 5.66931

u = —0.375034 — 1.0645001

—3.45066 + 3.258781

—14.9165 — 5.66931

u = —0.210685 + 1.1185401

6.42157 + 0.493561

—9.63907 + 0.329631

u = —0.210685 — 1.1185401

6.42157 — 0.493561

—9.63907 — 0.329631

u= 0.444121 + 1.0510701

—0.51949 + 5.898501

—7.49197 — 8.588731

uw= 0.444121 — 1.0510701

—0.51949 — 5.898501

—7.49197 + 8.588731

u = —0.490379 + 1.0476101

8.45002 — 7.202011

—5.83680 + 6.792591

u = —0.490379 — 1.0476101

8.45002 + 7.202011

—5.83680 — 6.792591

u = —0.405042 + 0.7350701

2.86862 — 1.802321

—0.91103 + 4.872361

u = —0.405042 — 0.7350701

2.86862 + 1.802321

—0.91103 — 4.872361

u= 0.149662 4 0.7900371

—0.605604 + 0.9321351

—9.94128 — 6.897961

u= 0.149662 — 0.7900371

—0.605604 — 0.9321351

—9.94128 + 6.897961

u = —0.622331 + 0.3038941

10.53390 + 2.884701

—2.43200 — 2.461971

u = —0.622331 — 0.3038941

10.53390 — 2.884701

—2.43200 + 2.461971

u=0.439815 4 1.2668801

—1.13178 — 1.064581

—9.26896 — 0.317771

u= 0439815 — 1.2668801

—1.13178 4 1.064581

—9.26896 + 0.317771

u = —0.454338 + 1.2618801

—9.69160 — 1.092541

—10.99035 — 0.807421

u = —0.454338 — 1.2618801

—9.69160 + 1.092541

—10.99035 + 0.807421

u = —0.481098 4 1.2541501

—9.49472 — 8.551491

—10.56405 + 6.846021

u = —0.481098 — 1.2541501

—9.49472 4 8.551491

—10.56405 — 6.846021

u = 0.468539 4 1.2593801

—12.15810 + 4.832671

—14.8489 — 3.18191




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= 0.468539 — 1.2593801

—12.15810 — 4.832671

—14.8489 4 3.18191

= 0.493269 + 1.2507101

—0.73827 4+ 10.715101

—8.69637 — 5.674921

0.493269 — 1.2507101

—0.73827 — 10.715101

—8.69637 + 5.674921

0.539657 + 0.2371871

1.69494 — 1.972151

—3.23018 + 4.603961

= 0.539657 — 0.2371871

1.69494 + 1.972151

—3.23018 — 4.603961

u
u
u
u
u
u

= —0.450859

—0.804226

—12.6090




II. u-Polynomials

Crossings u-Polynomials at each crossing
4
€1 w3 210 - —2u+ 1

C2,C8 w3 — w4 -1

C3,C4,C7 WP+ —6u—5
€9

€5, C6, C10 WO by —1

€11, C12




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 Y2 —11y® + .. — 30y + 1
Ca2,C8 PO+ 21y3° o — 2y 1
C3,Cq,C7 y36 _ 43y35 + . — 166y + 25
€9
€5, C6, C10 y36+45y35_|__.__2y+1
€11, C12




